B2

PP

Eilkgi 2 s ik

oo | FkHEg it 4% el = WBFERLE | £RKRG | moT | REHEAGR | £iE
1 1 FZA % A E BERP 4 82.7 Bl £
2 2 %R 54 A& HERP 4 78.7 o
3 3 LR % A% HERT L 74.5 2
4 4 i & 54 At HERP 4 73.7 2
5 5 € 54 A% D e 72. 4 =
6 6 % 54 5 A R+ 71.6 =
7 7 25 % A% e 71.2 £
8 8 X 8 = A% b5 ik 70. 3 £
9 9 B 145 54 At $ D i 68. 2 2
10 10 e 54 A& HERF 4 67. 2
11 11 B R F 5 A% HER L 66. 9
12 12 s 54 A% ke 66. 5
13 13 WED = AE 5 ik e 66. 3
14 14 %% % A HERP 4 65. 4
15 15 AR = AE e 65. 3
16 16 Vidid = A% BERP 4 64. 6
17 17 5 % A E HERP 4 64
18 18 2 % A% AR+ 62. 8
19 19 i % AE 5 ok e 60. 7
20 20 ¥ % A& HERF 4 60. 1
21 21 A % AE ke 59. 6
22 22 S % AE e 58. 3




F5 | FLHL SN M A =i REBAL | £XRG | W | REHEANATK o RE
23 23 Tt % AL HERP 4 57.6
24 24 % R AT % A% HERP 4 51.5
25 25 T % A% HERP 4 56. 4
26 26 Aé = A% 5 55. 8
27 27 ¥ % AL ke 54.6
28 28 T % A% 5 ke 53.8
29 29 Ty 58 At = Dk e 51. 4
30 30 S HAF % AL HERP 4 48. 1
31 31 i % A% 5 ik e 43.2
32 32 x| fm A % AL BERP 4 39.8
33 ik 22 Ik % AL HERP 4 0
34 ik fE ki % AL HERP 4 0
35 ik % % AL HERP 4 0
36 i 1% 4 4T % AL HERF 4 0
37 1 7 RE % AL By -+ 87. 1 o
38 2 - = A% By -+ 79. 6 £
39 3 HEH «© A% By -+ 70. 3 2
40 4 BR= = A& By -+ 66
41 5 4 % AL By -+ 66
42 6 ki = AL By - 4 66 FEPIF
43 7 FRE % AL By -+ 62. 7
44 8 A8 = AE By -+ 60. 9
45 9 ] % AL By -+ 59. 1
46 10 “HEE % AE By -+ 45. 8
47 11 F A 54 AE By =+ 44.3




F5 | FLHL SN M A =i REBAL | £XRG | W | REHEANATK o RE
48 12 x| 4% 1% % AL By -+ 43. 6
49 ik D&% 54 A% By P-4
50 ik i % AL By -+
51 1 X 2% 4 = AH JLEHP £+ 73.8 2
52 2 B4 54 At LB+ 73.5 2
53 3 IR A = A% JLEHP 73.1 £
54 4 25 % A% JLEH 4 73 2
55 5 & = AE JLEHP 72.1 2
56 6 Z W = A% JLEHP 71. 6 £
517 7 P 4 % AL LB+ 69. 1 2
58 8 Fax 54 AL LR+ 68. 2 2
59 9 I bk % AE JLEH 68 2
60 10 i % A F JLEF 4 67.5 2
61 11 EH % A% LB+ 66. 5 2
62 12 e | 54 At LB+ 65. 6 2
63 13 Ex% % AE JLEHP 64. 6
64 14 MRk B 54 A& JLEH 4+ 63. 2 ER-Eidli
65 15 x| 4 % AE JLEHP 61
66 16 Bl 7 % AE JLEHP 58. 2
67 17 iE4 % AL LB+ 58. 1
68 18 $E5FH % AL LB+ 58. 1
69 19 25X % AL JLEH 4 57.7
70 20 B % AL LB+ 57.3
71 21 REE % AL LB+ 57.1
72 22 BRI % AE JLEF 4 55.7




F5 | FLHL SN P A =i WEBAL | £XRG | oy & 4 #ENE IR o RE
73 23 Rk % AL LB+ 55.2
74 24 N % A JLEH 4 51.1
75 i x| A % AE JLEF 4
76 il M, 54 AL LR+
71 il RAF 5 A& LA+
78 1 e % A& FAREF L 67. 6 =
79 2 2 54 A& FAREF L 67 Z
80 3 LT = A FREF+ 65. 3 =
81 4 % H 54 A& FREF L 64. 4 Z
82 5 2, 54 At FAREYF+ 64. 2 2
83 6 k= 58 A% FREF+ 63. 8 2
84 7 x| g% % AL FREF+ 62 =
85 8 5K 4 % A% FREF+ 60. 6 2
86 9 LKE 54 A& FREF L 58. 6 Z
87 10 B3R = A% FREF+ 57. 6
88 11 ] = AL FAZH L 56.5
89 12 2 A 54 A& FREF+ 56. 4
90 13 T A = AL FAZH L 55
91 14 x| & = A FAZH L 51.9
92 15 AW % AL FAZH L 50.9
93 16 x| 2% 58 A% FREF+ 45.3
94 17 B 54 A& FREF+ 41.1
95 il I3tk % A& FAREF+
96 i 2 M % A& FREF L
97 i 7K 2% & 5 At FAREF L




F5 | FLHL SN P A =i BFBAL | £RXRG | oy & 4 #ENE IR o RE
98 i %% % AL FREF L 0

99 b A Fz= % AL FARAEF L+ 0

100 1 ] % AL | HHEMAD 59.5 =

101 2 %1 54 At | HEMHIDL 59.3 o

102 3 Y % A& Sl idnk 53.1 =

103 4 154 % At | BmEMHIDL 50. 4




